Potencias de 10 (A)

3,613+ 10!

7,896 + 10!

7,121+ 10!

1,88 +10!

9,778 = 10!

9,647 = 10!

7,624 = 10!

6,49 = 10!

1,026 = 10!

4,128 = 10!

Calcule los siguientes cocientes.

6,806 =+ 10!

7,798 + 10!

9,57+ 10!

2,961 10!

2,312+ 10!

3,39+ 10!

6,807 = 10!

3,279+ 10!

5,205+ 10!

4,83+ 10!
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Potencias de 10 (A) Respuestas

3,613+ 10!
0,3613
7,896 = 10!
0,7896
7,121 = 10!
0,7121
1,88+ 10!
0,188
9,778 =~ 10!
0,9778
9,647 = 10!
0,9647
7,624+ 10!
0,7624
6,49 = 10!
0,649
1,026 =+ 10!
0,1026
4,128 = 10!
0,4128

Calcule los siguientes cocientes.

6,806 = 10!
0,6806
7,798 = 10!
0,7798
9,57 = 10!
0,957
2,961 = 10!
0,2961
2,312+ 10!
0,2312
3,39+ 10!
0,339
6,807 10!
0,6807
3,279+~ 10!
0,3279
5,205 = 10!
0,5205
4,83+ 10!
0,483
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